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First Semester 3 Year LL.B. Examination, June/July 2025 (Even Sem.)
Crl1: BHARATIYA NYAYA SANHITA 2023

Duration : 3 Hours \ Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.
2. Q. No. 9 carries 20 marks and the remaining questions carry

16 marks each.
3. Answers should be written either in English or Kannada

completely.

Q. No. 1. Explain the various types of punishments under Bharatiya Nyaya
Sanhita, 20283. Marks : 16
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Q. No. 2. Explain the offences relating to marmiage under Bharatiya Nyaya Sanhita, 2023. Marks : 16
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Q. No. 3. Explain the circumstances under which hurt amounts to grievous hurt. Marks : 16
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Q. No. 4. What is Public Nuisance ? Briefly explain the negligent acts which cause
injury to public safety and health. Marks : 16
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Q. No. 5. What is theft and how does it differ from Extortion under Bharatiya Nyaya
Sanhita, 2023. Marks : 16
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Q. No. 6. Define Murder. Explain when Culpable Homicide does not amount to

murder. Marks : 16
BRSOIDRY, 3,47 R. O3RN BSTTHT 565:350333 a"mﬁo&mr‘o@@g’domdﬁg{
QNWR.

Q. No. 7. What is criminal conspiracy ? How does it differ from Abetment ? Marks : 16

BTOOHT WHTOLD DOTTER) 7 BTV ToT eoBoeT Tert WIS 2

P.T.O.

@ Scanned with OKEN Scanner



1405

Q. No. 8. Write short notes on any two of the following.
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Q. No. 9. Solve any two of the following.
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Marks : 2x8=16
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Community services
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Criminal Trespass
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Criminal force and Assault against women.
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‘A’ took away an unmarried girl who was under 16 years of age out of custody
of her father against his will. Decide what type of offence ‘A’ has committed ?
Give reasons.
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‘A’ is carried off by a tiger. ‘B’ fires at the tiger knowing that the shot may kill ‘A’.
‘A’ is killed. Has ‘B’ committed any offence ?
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‘Z' had sexual intercourse with Y’ a minor girl below 16 years of age with her
consent. Whether ‘Z’ has committed any offence ? Give reasons.
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Marks : 10x2=20



